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Example 3.12. For s = 10, v = 24, the following is a transitive starter and adder using
(Z10 × {0, 1}) ∪ {∞0,∞1,∞2,∞3}. (The terms in square brackets give the adder.)

016171[2] 412170[3] 608081[8] 001040[7]
∞02031[1] ∞15091[4] ∞23011[9] ∞39051[6]

Using this starter and adder, we obtain the following GHD∗(10, 24).

∞23011 608081 001040 ∞39051 ∞15091 412170 016171 ∞02031

∞03041 ∞24021 709091 102050 ∞30061 ∞16001 513180 117181

218191 ∞04051 ∞25031 800001 203060 ∞31071 ∞17011 614190

715100 319101 ∞05061 ∞26041 901011 304070 ∞32081 ∞18021

∞19031 816110 410111 ∞06071 ∞27051 002021 405080 ∞33091

∞10041 917120 511121 ∞07081 ∞28061 103031 506090 ∞34001

∞35011 ∞11051 018130 612131 ∞08091 ∞29071 204041 607000

708010 ∞36021 ∞12061 119140 713141 ∞09001 ∞20081 305051

406061 809020 ∞37031 ∞13071 210150 814151 ∞00011 ∞21091

∞22001 507071 900030 ∞38041 ∞14081 311160 915161 ∞01021
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